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THEX Sy« TH - FERI - HH50 B PO B B G AT & i T (G E LM
g
= 1 109, 962, 767
RCAG I T
= 1 80, 205, 314
EE LT
= 1 3,477,671
PR Y +w
= 1 529, 560
ML R AC W)
= 1 1, 429, 650
FEEEEIE
= 1 74, 988
FEIA O=27) 45 50, 000m3 AT
= 1 198, 810
b S TE b Cash ERIRY L&)
= 1 1,104, 983
B S AVHE T O ALE]
= 1 139, 680
ST L
[PU2sHE ]
= 1 21, 817, 436
BETFTHL ¢ 1200mm L=14. 5m 30-18-25BB C
=350kg/m3
VN 12 1, 796, 858 21, 562, 296
FEIA (=27) +-4
= 1 55, 225
st +H
= 1 29, 100
b S TE b Cash ERIRY L&)
= 1 132, 175
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X FEIA av) -k (JER)
m3 7 1,093 7,651
Prau kil )= EFR) & E D Zb L
m3 7 1,204 8,428
LGy 2y -k (SR
m3 7 3,223 22, 561
ST L
[PU29#E ]
= 1 20, 369, 118
BETFTHL ¢ 1500mm L=14. 5m 30-18-25BB C
>350kg/m3
VN 9 2,216, 582 19, 949, 238
FEIA O=27) +H
= 1 66, 270
st +H
= 1 34, 920
b S TE D CEUL EHRY HET)
= 1 158, 610
X FEIA 2y -k (SR
m3 29 1,093 31, 697
Prau kil )= EEFR HEEHm E D Zb L
m3 29 1,204 34,916
ALy vy -k (SR
m3 29 3,223 93, 467
R R AR T
[PU2sHE ]
= 1 16, 977, 602
FERREAY RC-40 t=20cm
m2 86 1,376 118, 336
¥ Layy)-}h 18-8-40BB W/C=65% t=10cm
m2 86 2,707 232, 802
-2 - SRRl N s
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2=} 30-12-40BB W/C=50% —Mx#&E 2
V)= MR T e
m3 290 18, 654 5, 409, 660
ERAR SD345 D16~25
t 24.96 174, 565 4, 357,142
ERAR SD345 D29~32
t 1.75 161, 031 281, 804
A SD345 D38
t 17. 24 174, 199 3,003, 190
Tl — AT
= 1 1, 688, 200
I P S U 7R UL R R
= 1 228, 316
TF MR 6175
= 1 16, 869
SR 40kN/m2<f < 80kN/m2[120<t < 250¢
m]
= 1 376, 320
8 REX Y ML
= 1 1,127, 250
FAR SRR 500X 500X 8 FJE5
mm
bie 1 137,713 137,713
R R AR T
[PU29#E ]
= 1 17, 563, 487
FERREAY RC-40 t=20cm
m2 99 1,376 136, 224
¥ Layy)-}h 18-8-40BB W/C=65% t=10cm
m2 99 2,707 267, 993
2=} 30-12-40BB W/C=50% —Mx#&/E 2
V0= N T e
m3 349 18, 654 6,510, 246
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ERAR SD345 D16~25
t 16.1 189, 013 3,043, 109
ERAR SD345 D29~32
t 21.09 180, 143 3,799, 215
Tl — AT
= 1 1, 688, 200
I P FZE U 7 UL R R
= 1 415, 120
T P MR ¢ 150
= 1 4, 964
TP MfsZe: ¢ 175
= 1 3,373
SR 40kN/m2<f < 80kN/m2[120<t < 250¢
m]
= 1 430, 080
it BRR Y NLE
= 1 1,127, 250
FAR AR RA 500X 500X 8 FJE5
mm
bie 1 137,713 137,713
KEHE L
= 1 683, 480
K FR L
= 1 211, 680
B A VI REIRA 0. 21kg/m2
m2 63 3, 360 211, 680
HIPERG 1L T
= 1 471, 800
HIVEBS 1k %5
m2 56 8,425 471, 800
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&ML T
= 1 1, 316, 601
M EUE L 1T
= 1 780, 316
SRR G TAT7WMEERR 15em<t <30cm
= 1 96, 912
A AR A TAT7WMEERR 15em<t <35cm
m2 310 756. 6 234, 546
SRR B P = I 514&1=5. Om
e 72 5,234 376, 848
VZEPINE (€S
= 1 72,010
TE AL T
= 1 536, 285
Prau kil TAT 7V bk
m3 93 1, 540 143, 220
LGy TAT 7V bk
m3 93 3,223 299, 739
Bl 38 4 gk SRRAR - fAmy b
= 1 93, 326
e
= 1 27, 757, 372
B R B T
[PU2sHE ]
= 1 7,472, 600
SHRAR M7 G M FL=13. Om ¥T3A 53K
£ 1=12.5m
e 78 63, 799 4,976, 322
SHRAR M7 §iRMEL=13. bm Bl#kE1=1
3. 0m
(BERR)
5 6 10, 671 64, 026
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AR Ak
e 68 5, 345 363, 460
Bk fEk L
t 28.1 71, 920 2,020, 952
Bl 38 4 gk SRRAR
= 1 47, 840
B R B T
[PU29#E ]
= 1 11, 398, 549
SHRAR M7 G M FL=13. Om ¥T3A 513K
F1=12. 5m
e 37 71,737 2, 654, 269
SHRAR M7 §iRMEL=13. 5m ¥T3AER1=1
3. 0m
e 32 175,113 5, 603, 616
SHRAR M7 §RMEL=11. Om Bl#E1=1
0. 5m
(BER%)
e 16 9,077 145, 232
SRR b
e 101 5, 345 539, 845
BIgk-fEk L
t 32.8 72, 230 2, 369, 144
EHEENZUR 18-8-40BB W/C=60%
&0 1 7,347 7,347
Bl 38 4 gk SRRAR
= 1 79, 096
FEEARIRRA B3 A1 1
= 1 1, 783, 808
RIS AT m7
m2 416 4, 288 1, 783, 808
B2 N/ VA
[PU2sHE ]
= 1 2, 080, 330
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%%71/&
= 1 2, 080, 330
HFARAAR T L
[PU29#E ]
= 1 2,134,916
%%71/&
= 1 2,134,916
) E i L
= 1 241, 775
= FE ik
= 1 241, 775
RImE T
= 1 2, 645, 394
AR FE AR B
= 1 2, 645, 394
B T HE
= 1 109, 962, 767
B ST ¢
= 1 20, 863, 996
BTl TE:
= 1 7,965, 023
TR
= 1 5, 153, 892
TR Sy A ST
= 1 399, 149
T RR A oy PR ST A R
= 1 3,317, 558
AR T
= 1 1,437, 185
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et
= 1 42,978
T HEA R &
= 1 42,978
Htre m
= 1 336, 680
IR E
= 1 282,912
B i % FEARTT ARG
= 1 53, 768
BUGERRYGEE (5 1)
= 1 2,431,473
HimEp R (FE L)
= 1 12, 898, 973
Wi
= 1 130, 826, 763
BTk X=giiv oy
= 1 42, 401, 282
R 5]
= 1 173, 228, 045
— e
= 1 27, 251, 955
Tk
= 1 200, 480, 000
THE B 2 %8
= 1 20, 048, 000
TG
= 1 220, 528, 000
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